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f 8.1. D1 IXRARRNRZIFEZULEZH TR, o, b FEHEL T 5,
HE: a, b DEIZ L > TRIFEHLMEEZ DB DOILHHHDT, HESTITLTEZL,

r+2y+3z2=a x+4y+3z2=1 r+ y+az=1
(1) 22 + 3y + 5z = 2a — 1 (2) 2 + 9y + T2 =3 (3) r4+ay+ z=1
3z +ay + 82 =2a+4 ay + 2z =195 ax + y+ z=1

B 8.2. ROWLRE £ FHHME KD, I AR ARRO s Kb 3 2 £ T, TOWHLR O W%
Bl MRE KD & (of. SIAECE BRI BIEE 5.4), 727U a,b,c RARIORHKE T 5.,

1) @py1 — =2n+1, x1=1, FRHHE z, =an+Db.
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(2) Tpy1 +2x, =30 —4n, =1, KR 2, =an®+bn+ec

(3) Zpgo —3Tpy1 +22, =2n+1, z =1 20=1 Kiki# z,, = an® + bn.
(4)

Tpyo —4Tpi1 tdx,=n, x1=1,20=2, KR x, =an+b.

FS 8.3. D1HI A IS LT [AE] OFF AL HWT A BNERMENZIA, ERIZA S IDETH%RD X,
1 -1 0 2 1 2 0 1
bz Al 3 -2 5 1 3 7 -1 6
nl-1 1 2 2 - 3 -
o . @lo 2 o s Ol 4 1 s
0 -1 —4 4 4 9 -1 8
1 2 -1 2 1 10 1 2 -3 4
2 1 -1 2 01 1 1 3 —4 6
(4) (5) (6)
2 2 -1 1 1 110 4 6 -6 -9
11 -1 1 1 01 1 6 8 -9 —12

8.4, IRDITH A ZHAITHIOR L L TERE,

12 3 2 1 -3
(1) <3 5) (2) <4 3> (3) <3 7) (4)

1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 6
B 8.5. 01 = , 09 = , T = L35,
3 4 2 5 1 5 4 1 2 3 34 6 2 5 1

(1) 01 & 03 ZENTNHHBOETEL, ZTORKT sgn(oy), sgn(oy) ZRKdD &, Tz, 012 2R &,
(2) T ZHBOBTELZ O/ T sgn(r) 2R &, 72, 0100, 7° ZRD &,
(3) o1p =03 EAT-TIEW p ZKRD K,
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